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Answer THREE questions
All questions carry equal weight, percentages within a question provide an 
approximate guide to the time you should spend on each section.   10% = 4 minutes 

No Calculators Allowed

1. All parts must be attempted

a. In the case of one of the following explain, using diagrams, how trade benefits the consumer 

(i) 
Trade due to differences in tastes

(ii) 
Trade due to differences in factor endowments

(iii) 
Trade as a result of increasing returns to scale

50%

b. In lectures we discussed six possible economic factors which may generate international trade. What were the other three?



10%

c. How important were the trading motives in a.ii & a.iii above for the creation of the original EU common market and latterly the European Single market programme in 1992.





40%

2. All parts must be attempted

a. Explain, using diagrams, the effects on consumers, producers and government revenue of using a tariff to protect a domestic industry

40%

b. Explain, using diagrams, why the agreement to establish an EU Single market might result to an increase in EU internal trade (trade creation) and to a decrease in external trade (trade diversion). 

40%

c. Briefly explain why we needed to create the EU Single Market if prior to 1992 all internal EU tariffs had already been abolished.

20%

3. All parts must be attempted

a. Explain, using diagrams, why there may be a special case for government intervention in the agricultural market. 

60%

b. Analyse the impact of the CAP on small, medium and large farming enterprises. 

40%

4. All parts must be attempted

a. Explain, using diagrams, the effect of short and long-run effects of a subsidy on the supply of agricultural products

60%

b. Outline the impact of the McSharry and Agenda 2000 to the Common Agricultural Policy and explain the impact on EU farming incomes and the supply of agricultural goods.

40%

5. All parts must be attempted

a. Explain why widening the bands within which currencies could fluctuate in the Breton Woods system from 1% to 2.25% can lead to a possible 9% fluctuation between the German deutschmark and the French franc.  

50%

b. Outline how the European Single currency emerged as a development of the post Breton Woods exchange rate arrangements. 50%

6. All parts must be attempted

a. Outline the six criteria for assessing an optimal currency area. What is the key assumption required about the effectiveness of monetary policy in this analysis. 








50%

b. Evaluate the extent to which the EU can be regarded as an optimal currency area.

50%

7. All parts must be attempted

a. Explain, using diagrams, why a monopoly can result in a higher price and a lower level of output compared with perfect competition.

50%

b. Explain, using diagrams, why a monopoly may be preferable to perfect competition if there are cost advantages associated with monopoly production. What is the key economic explanation for the change in costs?

20%

c. The EU Single market was partially designed to allow European producers to merge and become bigger to allow them to compete on a world stage with overseas producers. Explain how reducing the number of EU producers could benefit EU consumers. 

30%
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